WA ax + by =
Add o, oz T &2 A7
[11]
H7]
@C: ©£:4
b
© 4b=c @ a+b-c=0
@ x=0

0.6 2006 006 ®6,0

ONCNG)



2.

O3 182 ax—by+6 =02 2o},
ol W g — b2 F2?

3 3
@5 @—5 ® -2
@ 2 ® 0

yl

By



= @

[a1]

27]
@ -2y+8=2y O -x-3=2x
© 3x+y=3x-4 ® x-4=0
@ 3x+5y=0 ® -x-4=0

)
(2
YEHGE

o 4):



xX=a, X
AHZtE
@ 2

£

—a, y=3,2y+6=029 IH=Z=Z AR
,Fa o] T2 (Ha>0)



5. WA Xx=0,y=1x+1=0, 2y+4=09 1= F=Al
9] Hol=?

@1 @ 3 ® 4 @ 6 ® 8



+ L
lleS
=
ok
ox

>,
o
fr
it
i)
>
o
H1
ofl,
1o
u,
)
N
)
(0¢]
o
e
£
3
+
S
1o
N,
o

3x-3=0,x+3=0,y-m=0,y+n=0

D R
=%



FAA22-y+4=0,3x-2y+a=09 y 32-2y+a=0
WOl ANAREH 5 Sh= A a9 Da—y+4=0

el Hee?

Ky

7770

D a>0 @ 3<a<4 ® a>6
@ a<-8 ® a>8



o) §171817] 915 RE q o]

(Fa,x,ye BT Aol

D R
=%

o

)

(x, y)7H Al 1ARES



H
y
T
bl

B

ol
R

i
H|

(3,2) ¢

1 ® 0
@

@ 2



